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Attempt any five question in all selecting one question from each unit.
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No supplementary answer-book will be given to any candidate. Hence the candidates should write the answer

precisely in the main answer-book only.

Tt ot Tiene 1 [eh STR-GI&aHl 76l & S| 37 vﬁaﬂfda?aﬁan%qﬁ?a?g@m—gﬁaw#a?wmé'm
g

All the parts of one question should be answered at one place in the answer-book. One complete question should

not be answered at different places in the answer-book.
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Write your roll number on question paper before start writing answers of questions.
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UNIT -1 /3ehTg - 1
1.  Explain the various costs used in decision-making and explain their characteristics. 20
foof o & W &t S Sl faf= amTdl sl e qe et foRanel 1 st qui S |
OR / 31ar

(a) A Company manufactures a special product which requires a component X. The following 12+8
/ particulars are collected for the year 2020.

T | Tk T Scq1e ol Fior et &, Foreh foie e Woees o &t enavashar €1 99 2020 &
fore Fr=fafea foere g g |
Annual Demand of X = 16000 units

Cost of placing an order = % 100 per order
Cost per unit of X = ¥ 400
Carrying cost % p.a. = 20%
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Standard time per piece = 12 minutes

(in 8 hours 2 day) = Z 20

Normal rate per hour

- A Produced = 37 units
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2 A production department of a
expenses for this department for the year ending 3
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Consumable store : Power 14,400
Heat and Light 8,000
Machine I 6,000 Rent & Rates 48,000
Machine II 10,000 Insurance of Building 4,000
Machine III 12,000 Insurance of Machines 8.000
. . ?
Repallrs and Maintenance : .Depreciation of Machines 1,44,000
llt/l/lacine I 8,000 Supervision 88.000
ac .ne II 12,000 General charges 22.00
Machine III 16,000 e
~—Additional information available is as follows :
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The Company has been offer
order size i 4000 component at a time
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Standard time per piece = 12 minutes

Normal rate per hour (in 8 hours a day) = ¥ 20

A Produced =

37 unite

UNIT - 11 / 38 - 11

' i ines. The overhead
2.  Aproduction department of a manufacturing company has three different Machines. Th
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expenses for this department for the year ending 31 March, 2019 were :
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Consumable store : Power 14,400
Heat and Light 8,000
Machine I 6.000 Rent & Rates 48,000
Machine II 10,000 Insurance of Building 4,000
Machine II1 12,000 Insurance of Machines 8,000
=
Repairs and Maintenance : Depreciation of Machines 1,44,000
Machine | 8,000 Supervision 88,000
Machine IT 12,000 General charges 22,000
Machine I] 16,000
2 "“‘“A&ditionalinformation available is as follows -
\\
Effective e Book - value of
H.P, (Sq. ft) Machine Working Hours
] ®)
C T r—
Machine . v 12,000 10,000
10
Mﬂ(}hine i m 500 20,000 25, 000
15
2 L\ 400 16
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Batimatod annual salos 24,000 unitu

Eetimated conts :

Muterials T4 por unil,

Direct Labour T (.60 por unit
2 24,000 per yonr
T 24,800 por yoor

16% on Salen

Overheads (Factory)
Administrative lixpenson
Selling lixpanses

Saleulate the selling price if Profit per unit s ¥ 1,02,

wife wf gaptd onw € 1,02 8 @, fersha me @ mor )
UNIT - 111 / goRTd - 111

Define Management Accounting. What steps will be talen while installing
gystem in a large size industry 7
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OR / 3194r

An industrial concern which has no costing system appointed a cost accountant. After installation of
a system of cost data, the Yost. Accountant observed that out of three products which were being
produced independent of each other, loss were being incurred on Product B. He decides to advise
Management to discontinue manufacture of thig product gupported by the following :
@a-ummmmmmmm gt el & 3 e e eree e R GRS E S
e ST S @E T e aqavﬁ&ﬂmﬁquﬁmf@mﬁaﬁmmﬁmm
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Product A Product B Product C

¢ < 4

Sales 1,00,00,000 65,00,000 4,90,00,000
Variable manufacturing cost 52,00,000 26,00,000 1,40,00,000
Fixed manufacturing overheads apportioned 6,560,000 19,00,000 105,00,000
Variable selling and Administration costs 18,00,000 17,00,000 18,00,000
Fixed gelling and Administration cost 4,60,000 4,60,000 4,00,000
Total cost 81,10,000 66,60,000 2,67,00,000
Net Profit/Loss 18,90,000 —1,60,000 9,23,00,000
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Give your advise on the basis of data
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20 prepare cash budget,
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Credit Sales Purchases Wages
2 2 X
February 18,00,000 12,48,000 1,20,000
March 19,20,000 . 14,40,000 1,40,000
April 10,80,000 24,30,000 1,10,000
May 17,40,000 24,60,000 1,00,000
June 12,60,000 26,80,000 1,60,000

50 percent of the credit sales are realised in the month following the Sales and the remaining
50 percent in the second month following. Creditors are paid in the month of purchase, Cash at
Bank (estimated on 01.04.2020) % 2.50.000.
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UNIT-V/3&TE -V
The following are product data for next year budget.
ST 1 SR fo SR o frefefen €

Actavity Cost Driver Cost Driver Cost Pool

Volume/year Z

Purchasing Purchase orders 1500 75,000 e
Setting Batches Produced 2800 1,12,000
Material handling Material movements 8000 96,000
Inspection Batches Produced 2800 70,000
Machinery costs Machine hours 50,000 1,50,000

Purchase orders 25 ;

QOutput 15,000 units :

- Production batch size 100 units

Material movements per batch 6

Machine hour per unit 0.1
Required / SUf&d ¥:

@ . Calculated the budgeted overhead costs using activity based costing.
foran euiRa TR &1 J41 iTd g Teies TN AT hi TUMT Shifeig |
i) Ca]culate the budgeted overhead costs using absorption costing. — S
S i A A TR I I H .
; OR / a9
at do you mean by Responsibility Accounting ? Give the classification of Respons1b1hty centres
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